3 / ® 0 4 3 7 1
LIST OF MATERIAL (QUANTITY FOR ONE SHIP) REVISIONS
TEM | QT DESCRIPTION :@?E{) E MTL SPEC MTL REQ NSNOR MFGR SCE APL NO. UNIT REMARKS REV | ZONE DESCRIPTION BY DATE | APPROVED
GENERAL NOTES 1 18 S/F|3/4” STEEL PLATE 3 |—| ASTM—A36 | STEEL IAF 30.64,/5F
2 8 |1—1/4” DIA REGULAR NUT EYE BOLT |—|— COML CALYANIZED G—291 IAF SEE GEN NOTE No 4, TEMP LENGTH
THIS DRAWING WAS DEVELOPED FOR ACCOMPLISHMENT OF WORK ITEM 3 8 |SQUARE NUT, 1—-1/4— 7 UNC-2B — | — | NASM 25027 STEEL IAF
IX—0003, BASED ON A SHIPCHECK OF THE USS CONSTITUTION. 1 8 |LOCK WASHER, 1—1/4" T ANS B1822 11 STEEL AL
THE PURPOSE OF THIS DRAWING IS TO MODIFY THE EXISTING PORT AND 5 |2 L/F|2=1/4" DIA ROD — | — | ASTM—A36 STEEL IAF 13.5¢/LF
STARBOARD 28FT WHALEBOAT DAVITS IN WAY OF NEW CAPRAIL MODIFICATIONS. 6 16 |SQUARE BOLT, 3/4—10 UNC—2A _ COML STEEL AF LENGTH= 2-3/4"
TEMPLATE ALL WORK FROM SHIP AND EQUIPMENT TO INSURE 7 | 16 |SQUARE NUT, 3/4 —10 UNC-2B — | — | NASM 25027 | STEEL AR
PROPER INSTALLATION. 8 16 |LOCK WASHER, 3/4” — | — | ANSI B18.22.1 STEEL IAF
ITEM No 2 "REGULAR NUT EYE BOLT” SHALL BE SIMILAR OR EQUAL TO 9 |1 S/F|3/8” STEEL PLATE — | —| ASTM—A36 STEEL IAF 15.34/SF 3" DIA, (8 REQD)
THE CROSBY GROUP, FORGED EYE BOLT TYPE G—291, AND CAN BE 10 | 16 |3/4” GROOVED OPEN SPELTER SOCKET|—|— COML CALANIZED C—416 IAF SEE GEN NOTE No 5
ORDERED FROM, THE CROSBY GROUP, INC. TULSA, OKLAHOMA, 74101. .
PHONE: (918) 834—4611, FAX: (918) 832-0940, WEB: www.thecrosbygroup.nom 11 |20 L/F|3/4" WIRE ROPE — | —| RR=W=410 STEEL IAF TYPE I, CLASS 2, 6 BY 19
ITEM No 10 "GROOVED OPEN SPELTER SOCKET” SHALL BE SIMILAR OR EQUAL TO
THE CROSBY GROUP, SPELTER SOCKET TYPE G—416, AND CAN BE
ORDERED FROM, THE CROSBY GROUP, INC. TULSA, OKLAHOMA, 74101.
PHONE: (918) 834—4611, FAX: (918) 832—0940, WEB: www.thecrosbygroup.nom
DISTRIBUTION LIMITED TO DEPT. OF DEFENSE AND U.S.
DOD CONTRACTORS; ADMINISTRATIVE OR OPERATIONAL USE.
OTHER REQUESTS FOR THIS DOCUMENT SHALL BE
REFERRED TO COMMANDER, NAVAL SEA SYSTEMS COMMAND
(SEA 09B2), WASHINGTON, D.C. 20362-5101.
HIS DRAWING HAS PROOFING SHIPCHECK
BEREN SHIPCHECKED HA EEN CONDUCT
AGAINST THE SH ON T SHIP INDI ED
INDICA IN TE 1 IN NOTE ANDATHIS
AND IS V [ED AS DRAWING IS RTIFIED
BEING LI LE. AS BEING _ACC TE.
PLAN G YARD TE PLAN G YARD TE
— Wl IX=0003] 601 340 | 3—-6" 85.0 A 0.22 P |JBA
— Wl IX=0003] 601 /32 R 5-0" 85.0 A 0.45 P |JBA
L | VCG_REF . P
=S ISR SR o L I
XR
THIS DRAWING MODIFIES REFERENCE No 1 UPON ACCOMPLISHMENT
WEIGHT CONTROL DATA
OF FY 2008 RAV WORK ITEM IX—=0003. 2 | 1X21 |OUTBOARD PROFILE CAPRAIL REMOVAL 100—8275792
11 IX21 |BOAT DAVITS AND FITTINGS 28FT WHALEBOATS 253598 LEVERS IN FEET TO THE NEAREST TENTH OF A FOOT
HULL TITLE IDENT USE SEPARATE LINES FOR EACH WT GP, S/A, REV, WT INSTL, WT RMVL
NO. [=INSTALL, R=REMOVE, XI=LOAD ITEM INSTALLED, XR=LOAD ITEM REMOVED
REFERENCES F=FORWARD, A=AFT, P=PORT, S=STBD, 0=C
DIMENSIONAL TOLERANCES NTRACT  NO. SUGET SOUND ORI L O THE NAY
UNLESS OTHERWISE SPECIFIED NG NAVAL SHIPYARD NAVAL RSiNeron B sse-Biap MAND
MACPHNED GEOMETRIC (WHERE IND) POSTON, M 02210721%¢IWI IX—0003 USS CONSTITUTION
DIM DEC RAC | SYM GEOMETRY TOL PREPARED X DATE  |PREPARED  JBA D§%7
T I T weow im i Jsw/5|  DAVIT MODIFICATION
OVER 24 +1/ = PARALLELISM /IN EN%{ER ENGINEER ALMIEDA | 9/17/07) NC|D CAP RA L ?EMO\/AL
DIM ARE IN INCHES © | CONGENTRICITY /IN PROVED APPROVED  DfBhambers | 9/19/07)
FILLETS & RADII TO BE” SYM IN ACCORDANCE WITH USS CONSTITUTION AUTHORITY: ED FOR NAVSEA DIA[V|I[T| M|OID] [I[N|CI|D]| |CIAIPIRIAIIIL] |RIMVIL
TOL ON ANGLES}/ —|——|— — |PSNS DET BOSTON 4/07 SIZE CAGE NO. WT GRP NAVSEA DRAWING NO. REV
112134 SHIP REV | SHIPCHK BY | DT FY 08 RAV
AL From e | F| 53711601 8275791 |-
OF SHEETS SHIP - APPLICABILITY SCALE: AS NOTED SHEET 1 OF 4
3 / 0 O 4 5 2 SR 1




10

19 14

13 12

17 10

(E) 28FT. WHALEBOAT

PORT & STARBOARD

—

/«’» PN
O & AFT DAVIT ARM
NS

=N PORT & STARBOARD

NO ()

REMOVE & SURVEY

N N
"N FWD DAVIT ARM
N PORT & STARBOARD

(E)

REMOVE & SURVEY

(E) 28FT. WHALEBOAT

DAVIT BEARING & BEARING

PORT & STARBOARD PORT & STARBOARD

DAVIT BEARING & BEARING

"\ PORT & STARBOARD

-
-

KNEES

— <

KNEES

EXISTING) CAP RAIL

( - || - ﬁ REMOVED BY REF 2
|
) \ /
AN | /

(E) 28FT. WHALEBOAT DAVIT

PORT & STARBOARD

\
. L R Y A J
L @9 i & L @9 i \%
\ _ 11 _ 11
(EXISTING) CAP RAIL
DAVIT BEARING PLATE REMOVED BY REF 2 DAVIT BEARING PLATE
(EXISTING) (EXISTING)
STARBOARD BULWARK |N§TOL;TA|ON
STARBOARD BULWARK (EXISTING) INSTLATION
(EXISTING)
AFT DAVIT STEP PLATE s
PORT & STARBOARD X
(EXISTING) x
2\ \\ /é?/ )\
\///
N &
SPAR DECK SPAR DECK
{ / |
]
FWD DAVIT STEP PLATE
PORT & STARBOARD
(E) MIZZEN RIGGING CHANNEL (EXISTING)
29 99
KEY EBELEVAITION "9—B
STARBOARD SIDE SHOWN, PORT SIDE SIMILAR
SCALE: 1/8"=1"-0"
99 99 9 9
SECTION "14—A SECTION "12—A
AFT DAVIT ARM REMOVALS FORWARD DAVIT ARM REMOVALS
STARBOARD LKG AFT, PORT SIDE SIMILAR STARBOARD LKG AFT, PORT SIDE SIMILAR
o Y DISTRIBUTION LIMITED TO DEPT. OF DEFENSE AND U.S.
SCALE: 17=1-0 SCALE: 1=1 -0 DOD CONTRACTORS: ADMINISTRATIVE OR OPERATIONAL USE.
OTHER REQUESTS FOR THIS DOCUMENT SHALL BE
REFERRED TO COMMANDER, NAVAL SEA SYSTEMS COMMAND
(SEA 0982), WASHINGTON, D.C. 20362—-5101.
SIZE FSCM NO. WT GP NAVSEA DRAWING NO. REV
F1045/7111601 82/5/97 —
SCALE: AS NOTED SHEET 2
/l 6 /l 5 /l 4 /l 5 /l 2 /l /l /l O Eilléepdsrzgl:e:751?191002.DWG 9




24 % 27 2 v 20 19 18 17/
REGULAR NUT EYE BOLT 3/4" RECESSED PLATE
2—1/4” DIA ROUND BAR
N~ ANGLED SPACER
(8 REQD)
ABT
1—1/4” HEAVY LOCK WASHER
s (8 REQD)
(E) BULWARK %
AN
FWD DAVIT ARM FWD DAVIT ARM
PORT & STARBOARD PORT & STARBOARD
3 1—1/4” X 7 HEAVY SQUARE NUT (E) (F)
(8 REQD) / p
99 29
DETAIL 25—¢C
SCALE: 6"=1"-0"
DRILL 1—1/4” DIA HOLE (N) CAPRAL
THRU BULWALK TO SUIT /
(JJ)B» BJ DAV BEARING PLATE DAVIT BEARING ASSEMBLY DAVIT BEARING. PLATE DAVIT BEARING ASSEMBLY
" 1 / (E) BULWARK (EXISTING) (4 REQD) (EXISTING) (4 REQD)
ABT
—V—ABT WIRE ROPE ASSEMBLY WIRE ROPE ASSEMBLY
48° NETAIL 93— E” SEE DETAIL "30-D” SEE DETAIL "30-D”
(8 REQD) \ (8 REQD)
99 99 \ 99 ” » 99 \
2 : A (N) CAPRAIL 20 \ (N) CAPRAIL
VE \ Vi %7 REF 2 V; \ REF 2
R\ "SIM 237 °\ 23"

1—1/4” DIA ROD /

OREGULAR NUT EYE BOLT
LENGTH ABT= 22—-1/2"

3/4” RECESSED PLATE

(8 REQD)
¢
DAVIT
ARM
(TYP)
AFT DAVIT STEP PLATE
(N) CAPRAIL PORT & STARBOARD

JIISSTSS TS TS

o

(E) BULWARK

1

(E) BULWARK

ABT
62"
(TYP)

(EXISTING) N N
z — /
S Y B > [ /\ SPAR DECK SPAR DECK
( I EN NI e s
TEMP /]
FROM SHIP S < <
(TYP) < < < FWD DAVIT STEP PLATE
PORT & STARBOARD
(E) MIZZEN RIGGING CHANNEL (EXISTING)
> \ >
——
| o @
— <
< |
/ e SECTION "20—A" SECTION 718—A"
(E) BULWARK TEMP /TN RECESSED 22" X 6" X 3/4” STEEL PLATE
N TEMP LOC FROM DRILLED HOLES AFT DAVIT ARM INSTALLATION FORWARD DAVIT ARM INSTALLATION
(4 REQD) STARBOARD LKG AFT, PORT SIDE SIMILAR STARBOARD LKG AFT, PORT SIDE SIMILAR
SCALE: 1"=1"=0" SCALE: 1"=1"=0"
99 99
FLEVATION "235—A
STARBOARD LKG QOUTBD, PORT SIDE SIMILAR DISTRIBUTION LIMITED TO DEPT. OF DEFENSE AND U.S.
. , . DOD CONTRACTORS; ADMINISTRATIVE OR OPERATIONAL USE.
SCALE: 1-1/2"=1"-0 OTHER REQUESTS FOR THIS DOCUMENT SHALL BE
REFERRED TO COMMANDER, NAVAL SEA SYSTEMS COMMAND
(SEA 0982), WASHINGTON, D.C. 20362—-5101.
SIZE FSCM NO. WT GP NAVSEA DRAWING NO. REV
1 94/11601 82/5/97 | —
SCALE: AS NOTED SHEET 3
24 25 22 21 20 19 18 Reggreeee 1/




57

S5

30 29

28 2/ 20

20

@3/4” WIRE ROPE 6 BY 19

?

(8 REQD)

1—1/2" DIA HOLE

%iiiz2§§§§}<§§i§:>x<\;D/\
o\ 3/8" STEEL PLATE
(8 REQD)
DETAIL "29—E"
SPACER
SCALE: FULL

TEMPLATE LENGTH

N

\_/\\
\
/

(9

FROM SHIP B}
/!//\\
\/J
3/4” GROOVED OPEN SPELTER SOCKET
) ) (16 REQD)
DETAIL "30—D

WIRE ROPE ASSEMBLY
SCALE: 6"=1"-0"

m3/4” FLANGED PLATE

\<%<\ (4 REQD)
— il A
7
- - 1% r
\ i i
\f\
T ..
\ 1 ABT 81"
(TYP) 2
\ 5" TEMPLATE FROM
\ EXISTING DAVIT
D
\ i
11”_>i I |
3 16 N
24" —= N y
DRILL 13/16” DIA HOLE ////
(TYP)
DETAIL "29—A"

SCALE: 6"=1"-0"

11/16" DIA HOLE

TP 1—1/2” DIA HOLE
(TYP)
I I I I
/ | | | |
l l l |
- I
90
(TYP)
1”
L ABT &)

TEMPLATE FROM
EXISTING DAVIT

DRILL 13/16” DIA HOLE

// (TYP)
< 1 6%” =
I ] 1507 >//,, 7
1
A \ ﬁ@ \/450
\ €
\
5 \ R

| S
| \ [

" RAD

DRILL 1—1/2" DIA HOLE

(TYP)

2” RAD

10 W”J
o
et ’]4_” .
™ 3/4

" FLANGED PLATE

(4 REQD)

GROOVED OPEN SPELTER SOCKET

\2/
3/4” FLANGED PLATE 3/4—10 UNC SQUARE BOLT o
(4 REQD) 3/4—10 UNC SQUARE NUT
3/4 LOCK WASHER
(TYP)

W\\

3/4” WIRE ROPE

[ 1]
I
I
[

(

T N J/

\\\ 3" DIA SPACER

SEE DETAIL "29-E"

. ////4/2//{;4// )

3/4” FLANGED PLATE
SEE DETAIL "29
44

_A”

3" DIA SPACER

/ ) Nl | C —

W\\\\\\\\\\\\

SEE DETAIL "29-E7

L
|

_ i i \_ :': |
| |
| |

/ /

C
(E) DAVIT ARM // ——

(E) DAVIT BEARING PLATE

PLAN VIEW "26—A"

DAVIT BEARING ASSEMBLY
SCALE: 6"=1"-0"

)

3/4” WIRE ROPE

GROOVED OPEN SPELTER SOCKET

DISTRIBUTION LIMITED TO DEPT. OF DEFENSE AND U.S.
DOD CONTRACTORS; ADMINISTRATIVE OR OPERATIONAL USE.
OTHER REQUESTS FOR THIS DOCUMENT SHALL BE
REFERRED TO COMMANDER, NAVAL SEA SYSTEMS COMMAND
(SEA 09B2), WASHINGTON, D.C. 20362-5101.

-1 05/11601 82/5/91 | =
52 S5 50 29 23 2/ 20 R 2D




